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	Subpopulation
	T. Index
	Comparison 
	Mean Difference 
	Std. Error
	Sig.

	1
	79.43
	-
	-
	-
	-

	
	
	2
	2.13
	2.78
	0.44

	
	
	3
	0.06
	2.62
	0.98

	
	
	4
	0.47
	1.84
	0.80

	
	
	5
	2.15
	2.12
	0.31

	
	
	6
	4.78
	2.52
	0.06

	2
	77.30
	3
	-2.07
	2.94
	0.48

	
	
	4
	-1.66
	2.28
	0.47

	
	
	5
	0.03
	2.51
	0.99

	
	
	6
	2.66
	2.86
	0.35

	3
	79.37
	4
	0.41
	2.08
	0.84

	
	
	5
	2.10
	2.33
	0.37

	
	
	6
	4.73
	2.70
	0.08

	4
	78.96
	5
	1.69
	1.40
	0.23

	
	
	6
	4.32*
	1.96
	0.03

	5
	77.27
	6
	2.63
	2.23
	0.24

	6
	74.64
	-
	-
	-
	-

	
	* The mean difference is significant at the 0.05 level.



